AMEETAYHL T YRR—ILER

OFRE&H: 20145 8A 22H *HEH OH&E4A: 38— Bk
O &FAEEFZI:  18:00 o= B: A= NEE SR
OFREMRTHEZI: 20:40 OXIz: EEh O#i%: A
F—1% 1Q 2Q 3Q 4Q TOTAL B
BARKE 14 13 27 18 OB
BRIk K2 0 7 0 0 7 Of 1B
FafgiE
F—LB -5 B PLAY PLAYER(S) ¥—FK TFP PLAYER(S)  HIG/XHNG
ABRKE 2 0:47 run #2875k 9 K #55% P G
ABRKE 2 2:37 run #3 & F 36 K #55% T G
BRIk KZ 2 11:56 run #3318 AR 1 K #3321 AR G
ABRKE 4 2:41 pass #5EE—H8E T 15 K #55% P G
ABEKE 4 9:39 run #51% Bk 36 K #55% T NG
K-R-P
K-R-P
K-R*P
K-R-P
K-R-P
K-R*P
K-R-P
K-R-P
K-R-P
K-R-P
K-R-P
F— LA ABRKZE BERKE
1.7 —RAME Y B# (52 —/{X—RAl) 15(12— 2— 1) 9( 5— 2— 2)
28R A —HIo2—tTh 21—11-0 39—11—-0
gev—r | 75vds | 71vds
3TV E#—EFVY—F 34— 213Yds 17— 66Yds
4ME B —E/FVY—F 55— 288Yds 56— 137Yds
5.5 8l E#H—EKvV—F 6— 55Yds 6— 30Yds
6.77>7IL B % —F X 1—0 2—0
7.74—ILEI—)L B — B2 2—-0 0—0
8. R— LT B B 26:28 21:32
9.3rd—down Conversion 613 2714
10.4th—down Conversion 00 1.1




BAGCEH ABRKKE

AIEET A)Hh TR —ILER

BEANEEE (ABXKKE)
® >
NO. £ Al Bl% Yards TD K Fiy
SEFBHR 4] 26] 1] 36] 6.5
10 128 Fth 1 1 of 1 1
EEE 12 60] 1] 12| 5
5 &%k Hot 10] 98] 1] 36] 9.8
6 HE ¥R 4] 19] o] 9| 48
29 INE BE 2l 9] o] 6] 45
7 B R i ol o 0
® /\X
NO. XD EI% FiTh2—tYards TD | K Fiy
[ 58FE & T 21] 111 o] 75] 1] 15] 3.6]
oL —T
NO. G=1: 1] [Bl%k Yards TD K Fi5
SEFHLE 4] 34] 1] 15] 85
EEE 2l 16] o] 12] 8
10 128 At 2l 9] o 5| 45
29 INE BE 1| 4] o 4] 4
[IEF.S 1 5] of 5] 5
3iBEL Rig 1l 71 o 71 7
® Xvoto
NO. £ HI Bl#Yards 1 2 3 4 5 6 7 8 9 10
[ 55 #hFr E 7 [ 5[ 292 59] 60f 54] 59 60f | [ | [ |
® /\ Uk
NO. Z2X: [ [E]%1 Yards 1 2 3 4 5 6 7 8 9 10
IRENEESS [ 5[ 163] 20[ 38] 39/ 31[ 35] | [ [ [ |
@xyIAT-1)3—>
NO. £ Hil Bl¥kYards TD 1 2 3 4 5 6 7 8 9
'r’nJJ i [ 1] 32] of 32
HEEE [ 1] 24] of 24
@ /N\k)3—Y
NO. £ Al Bl Yards TD 1 2 3 4 5 6 7 8 9
10 128 At [ 2] 19] off 10] 9
3BEL RiF [ 1] 23] o 23
8EF KL [ 1] 14] of 14
EEE [ 1] 16] ol 16
® GBY vy
NO. Z2X: 0] [E]%1 Yards 1 2 3 4 5 6 7 8 9 10

[ 56 L8 XAt + sf s [ [ [ T [ [ [ [ |




@A nEﬁ Ju.Bkj(%

B ANEEEk (FREKKE)

HIMBET A)HTybR—)LE

BR
i

® >
NO. £ Al Bl Yards TD A Fi5
28 B=E mE{C [ 4] 23] o] 20] 5.8
33 Ezisﬁ)\ [ 4] 4] 1 2 1
HFF [ 8] 371 o] 15 46
81 %l:l IEIE [ 1] 2] of 2 2
® /\X
NO. C2X:] B4k BThA—tYards TD BXk Ty
[ 12 560 EF [ 39] 11] of 71 o] 15] 18]
oL —T
NO. Z2X: 0] %k Yards TD K Fiy
31 BilR FEX 1] 6] of 6 6
10 BJI| &— 4] 22 o] 15] 55
99 [ = 1| 14| o] 14] 14
25 )k R 1% 4] 25 o] 9] 6.3
27 FE BE 1| 4 o] 4] 4
® Xvoto
NO. Z2X: 0] E%4 Yards 1 2 3 4 5 6 7 8 9 10
[ 33 &R AA [ 2] 110f 60[ 50 [ 1 1 [ 1]
® /\ Uk
NO. Z2X: 0] E#4 Yards 1 2 3 4 5 6 7 8 9 10
[ 33 #/AXEFA [[ 10f 329l 36] 44| 37[ 10| 19] 33| 71[ 40| 13] 26|
@xyIAT-1)3—>
NO. Z2X: 0] E% Yards TD 1 2 4 5 6 7 8 9 10
31 BilR JEX [ 3] 571 of 17] 30] 10
81 ;&0 IFIE [ 1] 22] of 22
25 kR 1% [ 1] 20] of 20
@ Nk 1)F—Y
NO. %ﬁu El% Yards TD 1 2 3 4 5 6 7 8 9 10
25 kR 1% [ 1] -6] of -6
31 iR JEX [ 1] 5] of 5
® GBY vy
NO. | E%k Yards 1 2 3 4 5 6 7 8 9 10
[ 2= 10 7 77 | [ 1 [ 1]
® 1> 3—tTh+
NO. 2|l E% Yards TD 1 2 3 4 5 6 7 8 9 10




